# INCLUSION RELATIONS BETWEEN CLASSES OF HYPERGEOMETRIC FUNCTIONS ${ }^{1}$ 

O.P. AHUJA<br>University of Papua New Guinea<br>Department of Mathematics<br>Box 320, University Post Office<br>Papua, NEW GUINEA<br>M. JAHANGIRI ${ }^{2}$<br>California State University<br>Department of Mathematics<br>Bakersfield, CA 93311 USA


#### Abstract

The use of hypergeometric functions in univalent function theory received special attention after the surprising application of such functions by de Branges in the proof of the 70-year old Bieberbach Conjecture. In this paper we consider certain classes of analytic functions and examine the distortion and containment properties of generalized hypergeometric functions under some operators in these classes.


Key words: Generalized hypergeometric functions, analytic functions.

AMS (MOS) subject classifications: Primary 33A30; Secondary 30 C 45 .

## 1. INTRODUCTION

The expansions and generating functions involving associated Lagurre, Jacobi Polynomials, Bessel functions and their generalizations such as hypergeometric functions of one and several variables occur frequently in the seemingly diverse fields of Physics, Engineering, Statistics, Probability, Operations Research and other branches of applied mathematics (see e.g. Exton [7] and Schiff [19]). The use of hypergeometric functions in univalent function theory received special attention after the surprising application of such functions by de Branges [6] in the proof of the Bieberbach Conjecture [2]; also see [1].

[^0]Merkes-Scott [11], Carlson-Shaffer [4] and Ruscheweyh-Singh [18] studied the starlikeness of certain hypergeometric functions. Miller-Mocanu [12] found a univalence criterion for such functions. The second author and Silvia [8] and more recently Noor [14] studied the behavior of certain hypergeometric functions under various operators. In the present paper we consider certain classes of analytic functions and examine the distortion and containment properties of generalized hypergeometric functions under some operators in these classes.

Let $p$ and $q$ be natural numbers such that $p \leq q+1$. For $\alpha_{j}$ $(j=1,2, \ldots, p)$ and $\beta_{k} \quad(k=1,2, \ldots, q)$ complex numbers such that $\beta_{k} \neq 0$, $-1,-2, \ldots(k=1,2, \ldots, q)$, let ${ }_{p} F_{q}(z)$, that is

$$
\begin{equation*}
{ }_{p} F_{q}\left(\alpha_{1}, \alpha_{2}, \ldots, \alpha_{p} ; \beta_{1}, \beta_{2}, \ldots, \beta_{q} ; z\right):=\sum_{n=0}^{\infty} \frac{\left(\alpha_{1}\right)_{n}\left(\alpha_{2}\right)_{n} \ldots\left(\alpha_{p}\right)_{n}}{\left(\beta_{1}\right)_{n}\left(\beta_{2}\right)_{n} \ldots\left(\beta_{q}\right)_{n}} \frac{z^{n}}{n!} \tag{1.1}
\end{equation*}
$$

denote the generalized hypergeometric function. Here $(\lambda)_{n}$ is the Pochhammer symbol defined by

$$
(\lambda)_{n}=\frac{\Gamma(\lambda+n)}{\Gamma(\lambda)}=\left[\begin{array}{cc}
1, & \text { if } n=0 \\
\lambda(\lambda+1) \ldots(\lambda+n-1), & \text { if } n=1,2, \ldots
\end{array}\right.
$$

It is known [9, p. 43] that the series given by (1.1) converges absolutely for $|z|<\infty$ if $p<q+1$, and for $z \in U=\{z:|z|<1\}$ if $p=q+1$. Thus for $p \leq q+1$,

$$
{ }_{p} F_{q}\left(\alpha_{1}, \alpha_{2}, \ldots, \alpha_{p} ; \beta_{1}, \beta_{2}, \ldots, \beta_{q} ; z\right) \in \mathcal{A}
$$

where $\mathcal{A}$ denotes the class of functions that are analytic in $U$.
For ${ }_{p} F_{q}(z)$ defined by (1.1), let

$$
\begin{equation*}
{ }_{p} G_{q}(z):=z_{p} F_{q}(z)=z+\sum_{n=2}^{\infty} \frac{\left(\alpha_{1}\right)_{n-1}\left(\alpha_{2}\right)_{n-1} \ldots\left(\alpha_{p}\right)_{n-1}}{\left(\beta_{1}\right)_{n-1}\left(\beta_{2}\right)_{n-1} \ldots\left(\beta_{q}\right)_{n-1}(1)_{n-1}} z^{n} \tag{1.2}
\end{equation*}
$$

for all $z \in U$, where $p \leq q+1$.
Let $S$ be the family of functions of the form

$$
\begin{equation*}
f(z)=z+\sum_{n=2}^{\infty} a_{n} z^{n} \quad(z \in U) \tag{1.3}
\end{equation*}
$$

that are analytic and univalent in $U$. For $f \in S$, define the convolution operator $\Lambda$ by

$$
\begin{equation*}
\Lambda\left(\alpha_{1}, \alpha_{2}, \ldots, \alpha_{p} ; \beta_{1}, \beta_{2}, \ldots, \beta_{q} ; f\right):={ }_{p} G_{q}^{*} f \tag{1.4}
\end{equation*}
$$

The operator "*" denotes the Hadamard product or convolution of two power series

$$
f(z)=\sum_{n=0}^{\infty} a_{n} z^{n} \text { and } g(z)=\sum_{n=0}^{\infty} b_{n} z^{n}
$$

that is

$$
\left(f^{*} g\right)(z)=\sum_{n=0}^{\infty} a_{n} b_{n} z^{n}
$$

Thus for $f$ of the form (1.3) in $S$, we may write

$$
\begin{gather*}
\Lambda\left(\alpha_{1}, \alpha_{2}, \ldots, \alpha_{p} ; \beta_{1}, \beta_{2}, \ldots, \beta_{q} ; f\right) \\
=z+\sum_{n=2}^{\infty} \frac{\left(\alpha_{1}\right)_{n-1}\left(\alpha_{2}\right)_{n-1} \ldots\left(\alpha_{p}\right)_{n-1}}{\left(\beta_{1}\right)_{n-1}\left(\beta_{2}\right)_{n-1} \ldots\left(\beta_{q}\right)_{n-1}(1)_{n-1}} a_{n} z^{n}(z \in U), \tag{1.5}
\end{gather*}
$$

where $p \leq q+1$.
We recall that a function $\Phi$ is convex in $U$ if it is univalent conformal mapping of $U$ onto a convex domain. It is well-known that $\Phi$ is convex in $U$ if and only if

$$
\operatorname{Re}\left(1+\frac{z \Phi^{\prime \prime}(z)}{\Phi^{\prime}(z)}\right)>0 \quad(z \in U)
$$

and $\Phi^{\prime} \neq 0$. Also, a function $f$ is said to be close-to-convex in $U$ if there exists a convex function $\Phi$ in $U$ such that $\operatorname{Re}\left(f^{\prime}(z) / \Phi^{\prime}(z)\right)>0(z \in U)$. For $0 \leq \alpha<1$, we define the following subclasses of $\mathcal{A}$ :

$$
\begin{aligned}
& \mathcal{A}(p, q ; \alpha):=\left\{{ }_{p} F_{q} \in \mathcal{A}: \operatorname{Re}_{p} F_{q}(z)>\alpha\right\} \\
& R(\alpha, r):=\left\{f \in \mathcal{A}: \operatorname{Ref}^{\prime}(z)>\alpha \text { for }|z|<r \leq 1\right\} \\
& S(\alpha):=\{f \in \mathcal{A}: \operatorname{Re}(f(z) / z)>\alpha\} \\
& T:=\left\{f \in S: f(z)=z-\sum_{k=2}^{\infty} a_{k} z^{k} z \in U, a_{k} \geq 0\right\} \\
& T^{*}(\alpha):=\left\{f \in T: \operatorname{Re}\left(z f^{\prime}(z) / f(z)\right)>\alpha\right\} \\
& C(\alpha):=\left\{f \in T: \operatorname{Re}\left(1+z f^{\prime \prime}(z) / f^{\prime}(z)\right)>\alpha\right\}
\end{aligned}
$$

## 2. MAIN RESULTS

We use the following lemma due to Chen [5] to prove our first theorem.
Lemma 1: If $f \in S(\alpha)$, then
$\operatorname{Re} f^{\prime}(z) \geq\left\{\begin{array}{cc}\frac{1+2(2 \alpha-1) r+(2 \alpha-1) r^{2}}{(1+r)^{2}} & \text { if } 0 \leq r<1 / 2, \\ \frac{\alpha-2 \alpha r^{2}+(2 \alpha-1) r^{4}}{\left(1-r^{2}\right)^{2}} & \text { if } 1 / 2 \leq r<1 .\end{array}\right.$
Theorem 1: Let

$$
{ }_{p+1} G_{q+1}(z)=z_{p+1} F_{q+1}\left(\alpha_{1}, \alpha_{2}, \ldots, \alpha_{p}, 1+\gamma ; \beta_{1}, \beta_{2}, \ldots, \beta_{q}, \gamma ; z\right)
$$

If

$$
{ }_{p} F_{q}\left(\alpha_{1}, \alpha_{2}, \ldots, \alpha_{p} ; \beta_{1}, \beta_{2}, \ldots, \beta_{q} ; z\right) \in \mathcal{A}(p, q ; \alpha)
$$

then
(i) For $0 \leq|z|=r<1 / 2, z_{p+1}^{-1} G_{q+1} \in \mathcal{A}(p+1, q+1 ; X)$, where

$$
X=\frac{1}{\gamma}\left(\alpha \gamma+\alpha-1+\frac{2(1-\alpha)}{(1+r)^{2}}\right), \quad \gamma \geq 1
$$

(ii) For $1 / 2 \leq|z|=r<1, z^{-1}{ }_{p+1} G_{q+1} \in \mathcal{A}(p+1, q+1 ; Y)$, where

$$
Y=\alpha-\frac{(1-\alpha) r^{4}}{\gamma\left(1-r^{2}\right)^{2}}, \quad \gamma \geq 1
$$

Proof: We observe that

$$
(1-1 / \gamma){ }_{p} G_{q}(z)+\frac{1}{\gamma} z{ }_{p} G_{q}^{\prime}(z)={ }_{p+1} G_{q+1}(z) .
$$

Thus by an application of Lemma 1, we have

$$
\begin{gathered}
\operatorname{Re}\left(z_{p+1}^{-1} G_{q+1}(z)\right)=(1-1 / \gamma) \operatorname{Re}\left(z^{-1}{ }_{p} G_{q}(z)\right)+\frac{1}{\gamma} \operatorname{Re}\left({ }_{p} G_{q}^{\prime}(z)\right) \\
\geq(1-1 / \gamma) \alpha+\frac{1+2(2 \alpha-1) r+(2 \alpha-1) r^{2}}{\gamma(1+r)^{2}} \\
=X, \text { if } 0 \leq|z|=r<1 / 2
\end{gathered}
$$

and

$$
\operatorname{Re}\left(z_{p+1}^{-1} G_{q+1}(z)\right) \geq(1-1 / \gamma) \alpha+\frac{\alpha-2 \alpha r^{2}+(2 \alpha-1) r^{4}}{\gamma\left(1-r^{2}\right)^{2}}
$$

$$
=Y, \text { if } 1 / 2 \leq|z|=r<1
$$

To prove our next theorem we need the following lemma due to MacGregor [10].

Lemma 2: If $f \in R(0,1)$, then

$$
\left|f^{\prime}(z)\right| \leq \frac{1+|z|}{1-|z|}
$$

and

$$
-|z|+2 \log (1+|z|) \leq|f(z)| \leq-|z|-2 \log (1-|z|)
$$

Theorem 2: Let

$$
\Psi_{\gamma}\left(F_{p}(z)\right)=\frac{\gamma}{z^{\gamma-1}} \int_{0}^{z} t^{\gamma-1}{ }_{p} F_{q}(t) d t \quad(\gamma \geq 1) .
$$

If $\psi_{\gamma}\left({ }_{p} F_{q}\right) \in R(0,1)$, then
(i) $\left|{ }_{p} F_{q}(z)\right| \leq-1+\frac{2}{\gamma}\left(\frac{1}{1-|z|}+\frac{1-\gamma}{|z|} \log (1-|z|)\right.$,
(ii) $\left|{ }_{p} F_{q}(z)\right| \geq-1-\frac{2}{\gamma}\left(\frac{1}{1-|z|}+\frac{1-\gamma}{|z|} \log (1+|z|)\right)$.

Proof: Note that

$$
\begin{equation*}
(1-1 / \gamma) \Psi_{\gamma}\left({ }_{p} F_{q}(z)\right)+\frac{1}{\gamma} z\left(\Psi_{\gamma}^{\prime}\left({ }_{p} F_{q}(z)\right)=z_{p} F_{q}(z) .\right. \tag{2.1}
\end{equation*}
$$

Since

$$
\operatorname{Re}\left(\Psi_{\gamma}^{\prime}\left({ }_{p} F_{q}(z)\right)>0,\right.
$$

we obtain from (2.1) and Lemma 2

$$
\begin{aligned}
& \left|{ }_{p} F_{q}(z)\right| \leq(1-1 / \gamma)\left|z^{-1} \Psi_{\gamma}\left({ }_{p} F_{q}(z)\right)\right|+\frac{1}{\gamma}\left|\Psi_{\gamma}^{\prime}\left({ }_{p} F_{q}(z)\right)\right| \\
& \leq-(1-1 / \gamma)-\frac{2(1-1 / \gamma)}{|z|} \log (1-|z|)+\frac{1}{\gamma}\left(\frac{1+|z|}{1-|z|}\right) \\
& \quad=-1+\frac{2}{\gamma}\left(\frac{1}{1-|z|}+\frac{1-\gamma}{|z|} \log (1-|z|)\right),
\end{aligned}
$$

and

$$
\begin{aligned}
& \left|{ }_{p} F_{q}(z)\right| \geq(1-1 / \gamma)\left|z^{-1} \Psi_{\gamma}\left({ }_{p} F_{q}(z)\right)\right|-\frac{1}{\gamma}\left|\Psi_{\gamma}^{\prime}\left({ }_{p} F_{q}(z)\right)\right| \\
& \geq-(1-1 / \gamma)+\frac{2(1-1 / \gamma)}{|z|} \log (1+|z|)-\frac{1}{\gamma}\left(\frac{1+|z|}{1-|z|}\right)
\end{aligned}
$$

$$
=-1-\frac{2}{\gamma}\left(\frac{1}{1-|z|}+\frac{1-\gamma}{|z|} \log (1+|z|)\right) .
$$

Theorem 3: If ${ }_{p} F_{q} \in \mathcal{A}(p, q ; \alpha), 0 \leq \alpha<1$, then for $\gamma \geq 1$,

$$
\begin{gathered}
\left|p+1 F_{q+1}\left(\alpha_{1}, \alpha_{2}, \ldots, \alpha_{p}, \gamma ; \beta_{1}, \beta_{2}, \ldots, \beta_{q}, \gamma+1 ; z\right)\right| \\
\leq \frac{\gamma(1+(1-2 \alpha)|z|}{1-|z|}
\end{gathered}
$$

Proof: We observe that

$$
z_{p+1} F_{q+1}\left(\alpha_{1}, \alpha_{2}, \ldots, \alpha_{p}, \gamma ; \beta_{1}, \beta_{2}, \ldots, \beta_{q}, \gamma+1 ; z\right)=\frac{\gamma}{z^{\gamma-1}} \int_{0}^{z} t^{\gamma-1}{ }_{p} F_{q}(t) d t .
$$

Now by applying a result of Owa [15] that if $f \in S(\alpha)$, then

$$
\left|\frac{f(z)}{z}\right| \leq \frac{1+(1-2 \alpha)|z|}{1-|z|}
$$

we obtain

$$
\begin{aligned}
& \left|{ }_{p+1} F_{q+1}(z)\right|=\frac{\gamma}{|z|^{\gamma}}\left|\int_{0}^{z} \frac{F_{q}(t)}{t^{1-\gamma}} d t\right| \\
& \leq \frac{\gamma}{|z|^{\gamma}} \frac{1}{|z|^{1-\gamma}} \frac{1+(1-2 \alpha)|z|}{1-|z|}|z| \\
& =\frac{\gamma((1+(1-2 \alpha)|z|)}{1-|z|} .
\end{aligned}
$$

Next we use a result of Nikolaeva and Repnina [13] concerning the convex combination of certain analytic functions to prove our Theorem 4.

Lemma 3: Let $f \in R(0,1)$. Denote

$$
h_{0}=\frac{\mu^{3}}{\left(1+\sqrt{1+3 \mu^{2}}\right)^{2}}, \quad 0 \leq \mu \leq 1 .
$$

Let

$$
F_{\mu}(z)=(1-\mu) f(z)+\mu z f^{\prime}(z), \quad h=\alpha /(1-\alpha) .
$$

Then $F_{\mu} \in R(\alpha, r)$ where

$$
r=\left\{\begin{array}{cc}
\sqrt{\frac{1-\mu+2 \sqrt{\mu h}}{1+\mu+2 \sqrt{\mu h}}}, & \text { if } h \geq h_{0} \\
\frac{1+h}{\mu-h+\sqrt{\mu^{2}-2 \mu h+1}}, & \text { if } 0 \leq h \leq h_{0} .
\end{array}\right.
$$

Theorem 4: $\quad$ If ${ }_{p} G_{q} \in R(\alpha, 1), 0 \leq \alpha<1$, then the function

$$
{ }_{p+1} G_{q+1}(z)=z_{p+1} F_{q+1}\left(\alpha_{1}, \alpha_{2}, \ldots, \alpha_{p}, 1+\gamma ; \beta_{1}, \beta_{2}, \ldots, \beta_{q}, \gamma ; z\right)
$$

is in $R(\alpha, r)$ where
(i) $\quad r=r(\alpha, \gamma)=\frac{(\gamma-1) \sqrt{ }(\alpha \gamma)}{(\gamma+1) \sqrt{ }(1-\alpha)+2 \sqrt{(\alpha \gamma)}}$,
if $\alpha \geq 1 /\left(1+\gamma\left(\gamma+\sqrt{ }\left(\gamma^{2}+3\right)\right)\right.$ and
(ii) $\quad r=r(\alpha, \gamma)=\frac{\gamma}{1-\alpha(1+\gamma)+\sqrt{(\gamma(1-\alpha)(\gamma-\alpha \gamma-2 \alpha))}}$,
if $0 \leq \alpha<1 /\left(1+\gamma\left(\gamma+\sqrt{ }\left(\gamma^{2}+3\right)\right)\right)$ for $\gamma \geq 1$.
Proof: Noting that

$$
{ }_{p+1} G_{q+1}\left(z 0=(1-1 / \gamma){ }_{p} G_{q}(z)+\frac{1}{\gamma} z{ }_{p} G_{q}^{\prime}(z),\right.
$$

and comparing with Lemma 3, the result follows by simple algebraic manipulations.

Corollary: If ${ }_{p} G_{q} \in R(\alpha, 1)$, then $r=r(\alpha, \gamma)$ is also the radius of univalence of $p+1 G_{q+1}$ for $\gamma \geq 1$.

Theorem 5: If

$$
z_{p} F_{q}\left(\alpha_{1}, \alpha_{2}, \ldots, \alpha_{p} ; \beta_{1}, \beta_{2}, \ldots, \beta_{q} ; z\right)
$$

is convex, close-to-convex, or starlike of order $\alpha(0 \leq \alpha<1)$, then so is

$$
z_{p+1} F_{q+1}\left(\alpha_{1}, \alpha_{2}, \ldots, \alpha_{p}, \gamma+1 ; \beta_{1}, \beta_{2}, \ldots, \beta_{q}, \gamma+2 ; z\right)
$$

for $\operatorname{Re}(\gamma)>0$.
Proof: Consider the general transform

$$
\Phi_{\gamma}(f(z))=\frac{\gamma+1}{z^{\gamma}} \quad \int_{0}^{z} t^{\gamma-1} f(t) d t, \quad(\operatorname{Re}(\gamma)>0) .
$$

Then

$$
\begin{aligned}
& \Phi_{\gamma}\left(z_{p} F_{q}(z)\right)=\frac{\gamma+1}{z^{\gamma}} \int_{0}^{z} t^{\gamma-1}\left(z_{p} F_{q}(t)\right) d t \\
& =\sum_{n=0}^{\infty} \frac{\left(\alpha_{1}\right)_{n}\left(\alpha_{2}\right)_{n} \ldots\left(\alpha_{p}\right)_{n}(\gamma+1)}{\left(\beta_{1}\right)_{n}\left(\beta_{2}\right)_{n} \ldots\left(\beta_{q}\right)_{n}(\gamma+n+1)} \frac{z^{n+1}}{n!}
\end{aligned}
$$

$$
\begin{gathered}
=\left(\sum_{n=1}^{\infty} \frac{\left(\alpha_{1}\right)_{n-1}\left(\alpha_{2}\right)_{n-1} \ldots\left(\alpha_{p}\right)_{n-1}}{\left(\beta_{1}\right)_{n-1}\left(\beta_{2}\right)_{n-1} \ldots\left(\beta_{q}\right)_{n-1}(1)_{n-1}} z^{n}\right) *\left(\sum_{n=1}^{\infty} \frac{\gamma+1}{\gamma+n} z^{n}\right) \\
z_{p} F_{q}(z)^{*} H(z),
\end{gathered}
$$

where

$$
H(z)=\sum_{n=1}^{\infty} \frac{\gamma+1}{\gamma+n} z^{n}
$$

is known [16] to be convex in $U$. It follows from the work of Ruscheweyh and Sheil-Small [17] that the function $\Phi_{\gamma}\left(z_{p} F_{q}\right)$ is convex, close-to-convex, or starlike of order $\alpha$ whenever $f$ is such. Now the result follows because we may write

$$
\begin{aligned}
& \Phi_{\gamma}\left(z_{p} F_{q}(z)\right)=z \sum_{n=0}^{\infty} \frac{\left(\alpha_{1}\right)_{n}\left(\alpha_{2}\right)_{n} \ldots\left(\alpha_{p}\right)_{n}(\gamma+1)_{n}}{\left(\beta_{1}\right)_{n}\left(\beta_{2}\right)_{n} \ldots\left(\beta_{q}\right)_{n}(\gamma+2)_{n}} \frac{z^{n}}{n!} \\
& =z_{p+1} F_{q+1}\left(\alpha_{1}, \alpha_{2}, \ldots, \alpha_{p}, \gamma+1 ; \beta_{1}, \beta_{2}, \ldots, \beta_{q}, \gamma+2 ; z\right)
\end{aligned}
$$

Our last theorem deals with hypergeometric functions with negative coefficients. Its proof uses the following lemma which is due to Silverman [20].

Lemma 4: Let

$$
f(z)=z-\sum_{n=2}^{\infty} a_{n} z^{n}, \quad a_{n} \geq 0
$$

Then
(i) $f \in T^{*}(\alpha) \Leftrightarrow \sum_{n=2}^{\infty}(n-\alpha) a_{n} \leq 1-\alpha$,
(ii) $f \in C(\alpha) \Leftrightarrow \sum_{n=2}^{\infty} n(n-\alpha) a_{n} \leq 1-\alpha$,
(iii) $f \in T^{*}(\alpha) \Rightarrow\left|a_{n}\right| \leq \frac{1-\alpha}{n-\alpha} \quad(n \geq 2)$,
(iv) $\quad f \in C(\alpha) \Rightarrow\left|a_{n}\right| \leq \frac{1-\alpha}{n(n-\alpha)} \quad(n \geq 2)$.

Theorem 6: For

$$
f(z)=z-\sum_{k=2}^{\infty} a_{k} z^{k} \in T^{*}(\alpha)
$$

the function

$$
\Lambda\left(\alpha_{1}, \alpha_{2}, \ldots, \alpha_{p+1}, \beta_{1}, \beta_{2}, \ldots, \beta_{p} ; f\right) \in T^{*}(\alpha) \Leftrightarrow
$$

$$
\alpha_{i}, \beta_{j}>0 \quad(i, j=1,2, \ldots, p), \alpha_{p+1}>0, \sum_{j=1}^{p}\left(\beta_{j}-\alpha_{j}\right)>\alpha_{p+1}
$$

and

$$
\begin{equation*}
{ }_{p+1} F_{p}\left(\alpha_{1}, \alpha_{2}, \ldots, \alpha_{p+1} ; \beta_{1}, \beta_{2}, \ldots, \beta_{p} ; 1\right) \leq 2 \tag{2.2}
\end{equation*}
$$

Proof: For

$$
f(z)=z-\sum_{k=2}^{\infty} a_{k} z^{k} \in T
$$

and using (1.5), we have

$$
\begin{equation*}
\Lambda\left(\alpha_{1}, \alpha_{2}, \ldots, \alpha_{p+1} ; \beta_{1}, \beta_{2}, \ldots, \beta_{p} ; f\right)=z-\sum_{k=2}^{\infty} d_{k} z^{k} \tag{2.3}
\end{equation*}
$$

where

$$
d_{k}=\frac{\left.\left(\alpha_{1}\right)_{k-1}\left(\alpha_{2}\right)_{k-1}\right) \ldots\left(\alpha_{p+1}\right)_{k-1}}{\left(\beta_{1}\right)_{k-1}\left(\beta_{2}\right)_{k-1} \ldots\left(\beta_{p}\right)_{k-1}(1)_{k-1}} a_{k} \geq 0
$$

In view of Lemma 4, the function given by (2.3) is in $T^{*}(\alpha)$ if and only if

$$
\sum_{k=2}^{\infty} \frac{k-\alpha}{1-\alpha}\left|d_{k}\right| \leq 1
$$

Since $\left|a_{k}\right| \leq(1-\alpha) /(k-\alpha)(k \geq 2)$, by Lemma 4 (iii), we have

$$
\begin{aligned}
& \sum_{k=2}^{\infty} \frac{k-\alpha}{1-\alpha}\left|d_{k}\right|=\sum_{k=2}^{\infty} \frac{k-\alpha}{1-\alpha} \frac{\left(\alpha_{1}\right)_{k-1}\left(\alpha_{2}\right)_{k-1} \ldots\left(\alpha_{p+1}\right)_{k-1}}{\left(\beta_{1}\right)_{k-1}\left(\beta_{2}\right)_{k-1}\left(\beta_{p}\right)_{k-1}(1)_{k-1}}\left|a_{k}\right| \\
& \leq \sum_{k=2}^{\infty} \frac{\left(\alpha_{1}\right)_{k-1}\left(\alpha_{2}\right)_{k-1} \ldots\left(\alpha_{p+1}\right)_{k-1}}{\left(\beta_{1}\right)_{k-1}\left(\beta_{2}\right)_{k-1}\left(\beta_{p}\right)_{k-1}(1)_{k-1}} \\
&=\left(\sum_{k=0}^{\infty} \frac{\left(\alpha_{1}\right)_{k}\left(\alpha_{2}\right)_{k \cdots} \ldots\left(\alpha_{p+1}\right)_{k}}{\left(\beta_{1}\right)_{k}\left(\beta_{2}\right)_{k} \ldots\left(\beta_{p}\right)_{k} k!}\right)-1 \\
&={ }_{p+1} F_{p}\left(\alpha_{1}, \alpha_{2}, \ldots, \alpha_{p+1} ; \beta_{1}, \beta_{2}, \ldots, \beta_{p} ; 1\right)-1 .
\end{aligned}
$$

The desired result follows because the ${ }_{p+1} F_{p}$ series is absolutely convergent for $|z|=1$ if

$$
\sum_{k=1}^{\infty}\left(\left(\beta_{k}-\alpha_{k}\right)-\alpha_{p+1}\right)>0
$$

see [9, p. 44].
Remark 1: Using (ii) and (iv) in Lemma 4, we can similarly prove that Theorem 6 holds for $C(\alpha)$, that is,

$$
\Lambda\left(\alpha_{1}, \alpha_{2}, \ldots, \alpha_{p+1}, \beta_{1}, \beta_{2}, \ldots, \beta_{p} ; C(\alpha)\right) \subset C(\alpha)
$$

if and only if the conditions of Theorem 6 hold.
Remark 2: In view of the generalization of the Gaussian summation formula for $p=2,3, \ldots$, determined in [3], the condition (2.2) may be expressed as

$$
\sum_{k=0}^{\infty} \frac{(s)_{k}}{\left(\alpha_{1}+s\right)_{k}\left(\alpha_{2}+s\right)_{k}} A_{k}^{(p)} \leq \frac{2 \Gamma\left(\alpha_{3}\right) \ldots \Gamma\left(\alpha_{p+1}\right) \Gamma\left(\alpha_{1}+s\right) \Gamma\left(\alpha_{2}+s\right)}{\Gamma\left(\beta_{1}\right) \Gamma\left(\beta_{2}\right) \ldots \Gamma\left(\beta_{p}\right) \Gamma(s)}
$$

where $A_{k}^{(p)}$ 's are given by some lengthy expressions in [3] and

$$
s=\sum_{j=1}^{p}\left(\beta_{j}-\alpha_{j}\right)-\alpha_{p+1}>0
$$

## REFERENCES

[1] Ahuja, O.P., the Bieberbach Conjecture and its impact on the development in geometric function theorem, Mathematical Chronicle 15 (1986), 1-28.
[2] Bieberbach, L., Über die Koeffizienten derjenigen Potenzreihen, welche eine schlichte Abbildung des Einheitskreises vermitten, S.-B. Preuss, Wiss. (1916), 940-955.
[3] Bühring, W., Generalized hypergeometric functions at unit argument, Proc. Amer. Math. 114:1 (1992), 145-153.
[4] Carlson, B.C., and Shaffer, D.B., Starlike and prestarlike hypergeometric functions, SIAM J. Math. Anal. 15 (1984), 737-745.
[5] Chen, Ming-Po, On the regular functions satisfying $\operatorname{Re}(f(z) / z)>\alpha$, Bull. Inst. Math. Acad. Sinica 3:1 (1975), 65-70.
[6] de Branges, L., A proof of the Bieberbach Conjecture, Preprint E-5-84, Steklov Math. Institute, Lomi, Leningrad (1984), 1-12 or Acta Mathematica 154 (1985), 137-152.
[7] Exton, H., Multiple Hypergeometric Functions and Application, John Wiley and Sons (Halsted Press), New York; Ellis Harwood, Chichester 1976.
[8] Jahangiri, M., and Silvia, E.M., Some inequalities involving generalized hypergeometric functions, in: Univalent Functions, Fractional Calculus and their Applications, John Wiley and Sons (Halsted Press), New York; Ellis Harwood, Chichester 1989, 65-74.
[9] Luke, Y.L., The Special Functions and their Approximations, Vol. I, Academic Press, New York 1969.
[10] MacGregor, T.H., Functions whose derivative has a positive real part, Trans. Amer. Math. Soc. 104 (1962), 532-537.
[11] Merkes, E.P., and Scott, W.T., Starlike functions, Proc. Amer. Math. Soc. 12 (1961), 885-888.
[12] Miller, S.S., and Mocanu, P.T., Differential subordinations and inequalities in the complex plane, J. Diff. Equations 67 (1987), 199-211.
[13] Nikolaeva, R.V., and Repnina, L.G., A generalization of a theorem of Livingston, Ukrainskii Mate. Zhurral 24:2 (1972), 268-273.
[14] Noor, K.I., Some results on certain subclasses of analytic functions involving generalized hypergeometric functions and Hadamard product, Internat. J. Math. Math. Sci. 15 (1992), 143-148.
[15] Owa, S., On functions satisfying $\operatorname{Re}(f(z) / z)>\alpha$, Tamkang J. Math. 16:3 (1985), 35-44.
[16] Ruscheweyh, S., New criteria for univalent functions, Proc. Amer. Math. Soc. 49 (1975), 109-115.
[17] Ruscheweyh, S., and Sheil-Small, T., Hadamard product of schlicht functions and Polya-Schoenberg conjecture, Comment. Math. Helv. 48 (1973), 119-135.
[18] Ruscheweyh, S., and Singh, V., On the order of starlikeness of hypergeometric functions, J. Math. Anal. Appl. 113 (1986), 1-11.
[19] Schiff, L., Quantum Mechanics, McGraw-Hill, New York 1955.
[20] Silverman, H., Univalent functions with negative coefficients, Proc. Amer. Math. Soc. 51:1 (1975), 109-116.


[^0]:    ${ }^{1}$ Received: September, 1993. Revised: January, 1994.
    ${ }^{2}$ This work was completed while the second author was a Visiting Scholar at the University of California, Davis.

